1
50

2
Bootstrap
5.1

100

5.

5.

1.

1.

1

2

100

500

0.0,

ff
<a(, 0 y 0 ) e 10)
10, 20 , 25
3,5 T 9
1.0, 1.5, 2.0, 2.5,

105



DS

Bootstrap

10

0

0

DS

0.5

0.5

106



5.2

5.

5.

5.

5.

«
k
DS
5
«
1
B
R

«

2.

2.

2

2

2.

« « « {
« « 2
«
1 «
2 -1 « { « « 2
A 1 «
2 « «
B «
3 « « «
2 A
« { Leave - one - out
! { « « 2
« 0.0 - 0.5 « { Bootstrap
) « Resubstitution R
50 «  «
A 1
6 « Resubstitution

« «

107



108

5.2.7
DS I
Resubstitution R
2
Bootstrap
B

5.2.8 B
5.2.9 ‘

(Standard Deviation ,SD>
5.2.10 3



109

Yes

wulng

Yes

Yoo

k & 7 » 143§ bs

No




	บทที่ 5 สรุปผลการวิจัยและข้อเสนอแนะ
	5.1 สรุปผลการวิจัย
	5.2 ข้อเสนอแนะ


